F20%k HENERFABERERR

X 9 EiLTW5D Ff LT e
/AR ZE(~290) 52 150
HRAEZE (B30 A~) 11 54

= it 63 204

FI0R ERBHRENERBBERIKTR

X 597 EiLTW5D FhE LT e
/N AR ZE(~290) 10 26
RO | PRMEFEGBOA) 1 2
= it 11 28
/AR ZE(~290) 5 12
BOE % | RREFEGOA~) 3 13
= it 8 25
b A R (-290) 20 51
ﬁnﬁkég 3 (30 A~) ! 12
a it 21 63
/N A ZE(~290) 0 6
e g (B0 A~ 1 4
R BR 3

a it 1 10
/N A ZE(~290) 5 29

NENPE S | PR BOA~) - -
a it 5 29
o /N A ZE(~290) 0 6
2 [ReEGA) | 7
= it 1 13
/N A ZE(~290) 8 14
PR | PR (BOA~) 3 11
= it 11 25
/N AR ZE(~290) 4 6
Z O A | HRAEZE(BOA~) 1 5
= it 5 11




